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Кодекс розподілу 

добра та зла 
=

=

NK=

fl˛žþŁ¦Ð=ýþ×˛ÝşÞ¦Ð=ð×¦²š×—Ð=×šÝ—ł—ÐÞþ›=Ł—×¦=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦W=Ł¹šI=
ğþ=³²Łš×ŠŽ³ÿ=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦=¥=Šþˇ×þX=Ł¹šI=ğþ=−×¦Þ¦Ž³ÿ=
Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦=¥=žÝþK=%šI=ğþ=Þš=ýþŽš=ˇ³²¦=Ł¦žÞ˛₣šÞþ=Čð=Šþˇ×þ=
₣¦=žÝþI=Ł—Š−þŁ—ŠÞþ=Šþ=¾şþłþ=ËþŠšð¹³=ÿ=Þš×þž−þŠ—ÝşÞ¦ýK=

OK=

ÙšÐ=ðþŠšð¹=×šłÝ˛ýšÞ²³ÿ=Ł¦Þš¹šÞÞČ=þ¾—Þþ₣Þ¦¼=¹³ŠŽšÞş=ýþ×˛ÝşÞþłþ=¼˛×˛ð²š×³=
×šÝ—ł—ÐÞþć=ł×þý˛Šþć=¹−þŁ—Š³ć₣¦¼=Ł—×³=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦=ğþŠþ=
½šÞþýšÞ—Ł=¥=²þˇ²þ=²¦¼=ČŁ¦ğI=Š—Ð¹Þ¦¼=₣¦=³ČŁÞ¦¼I=Čð—I=Þ˛=Š³ýð³=¹−þŁ—Š³ć₣¦¼=
×šÝ—ł—ÐÞ³=Ł—×³=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦I=ž˛¹Ý³łþŁ³ć²ş=Þ˛=þ¾—Þð³=±Šþˇ×þ≤=
₣¦=±žÝþ≤K=



= J=O=J

PK=

Íš²þć=×þž−þŠ—Ý³=Šþˇ×˛=—=žÝ˛=ÿ=Ł¦¹ÞþŁþð=ğþŠþ=−šŁÞþłþ=½šÞþýšÞ³I=₣¦=ÿ=Ł—Þ=
Šþˇ×þý=˛ˇþ=žÝþýI=˛ˇþ=ÿ=Þš×þž−þŠ—ÝşÞ¦ý=Ł—Š−þŁ—ŠÞþ=Šþ=ˇ˛žþŁþłþ=ýþ×˛ÝşÞþłþ=
ð×¦²š×—ćI=ž˛žÞ˛₣šÞþłþ=³=−K=N=¾şþłþ=ËþŠšð¹³K=

QK=

˝ðğþ=½šÞþýšÞ=Ł¦žÞ˛Þþ=Šþˇ×þýI=Ł¦¹ÞþŁþð=ýþŽš=ý—¹²¦²¦=−×þ−þž¦¾—›=ğþŠþ=
×þžŁ¦²ð³=²˛=−þĞ¦×šÞÞČ=¾şþłþ=½šÞþýšÞ³K=˝ðğþ=½šÞþýšÞ=Þš=Ł¦žÞ˛Þþ=
Šþˇ×þýI=Ł¦¹ÞþŁþð=ýþŽš=ý—¹²¦²¦=−×þ−þž¦¾—›=ğþŠþ=²×˛Þ¹½þ×ý˛¾—›=½šÞþýšÞ˛=³=
Šþˇ×þK=˝ðğþ=½šÞþýšÞ=Ł¦žÞ˛Þþ=žÝþýI=Ł¦¹ÞþŁþð=ýþŽš=ý—¹²¦²¦=−×þ−þž¦¾—›=
ğþŠþ=Ðþłþ=−þŠþÝ˛ÞÞČK=

RK=

fl³ŠşJČð—=½šÞþýšÞ¦=ýþŽ³²ş=Ł¦Ł₣˛²¦¹Č=Þ˛=−×šŠýš²=×þž−þŠ—Ý³=Šþˇ×˛=—=žÝ˛K=
%˛ð¦ý¦=½šÞþýšÞ˛ý¦=ÿI=žþð×šý˛I=½˛ð²¦=²˛=þ¾—Þþ₣Þ—=¹³ŠŽšÞÞČI=žþð×šý˛I=−×þ=
Š—ČÝşÞ—¹²ş=˛ˇþ=ýš²³I=¹−þ¹þˇ¦I=×šž³Ýş²˛²¦=Š—ČÝşÞþ¹²—=þð×šý¦¼=ÝćŠšÐI=
¹−—ÝşÞþ²I=—Þ¹²¦²³¾—Ð=²þğþI=˛=²˛ðþŽ=Ž¦Ł—=²˛=ÞšŽ¦Ł—=−×šŠýš²¦I=−þŠ—›I=
—Þ½þ×ý˛¾—ćI=žþð×šý˛=−×þ=−×þšð²¦I=Þ˛ý—×¦I=ž˛Š³ý¦I=ýþ²¦Ł¦I=Þþ×ý¦I=−×˛Ł¦Ý˛I=
³ČŁÝšÞÞČ=²˛=—ÞKI=˛=²˛ðþŽ=¹³ð³−Þþ¹²—=½šÞþýšÞ—ŁI=žŁ∞Čžð¦=ý—Ž=½šÞþýšÞ˛ý¦=
²þğþK=

SK=

‚þˇ×þ=—=žÝþ=×þž−þŠ—ÝČÿ=Û×˛Þ¦²šÝş=‡—×¦K=Ò₣˛¹Þ¦ð˛ý¦=−×þ¾š¹³=×þž−þŠ—Ý³=Šþˇ×˛=
—=žÝ˛=ÿ=þð×šý—=ÝćŠ¦=˛ˇþ=¹−—ÝşÞþ²¦I=²þŁ˛×¦¹²Ł˛I=³¹²˛ÞþŁ¦I=þ×ł˛Þ—ž˛¾—›=²þğþI=
−×šŠ¹²˛ŁÝšÞ—=Ł=−×þ¾š¹—=³−þŁÞþŁ˛ŽšÞþć=Þ˛=²š=ÝćŠ¦ÞþćK=
=



= J=P=J

TK=

Ì×þ¾š¹=×þž−þŠ—Ý³=Šþˇ×˛=—=žÝ˛=ŁšŠš²ş¹Č=³=−¦¹şýþŁ—Ð=½þ×ý—=²˛=−þ₣¦Þ˛ÿ²ş¹Č=ž˛=
ž˛ČŁþć=−×þ=×þž−þŠ—Ý=Šþˇ×˛=—=žÝ˛I=−þŠ˛Þþć=Û×˛Þ¦²šÝć=‡—×¦I=˛ˇþ=ž˛=—Þ—¾—˛²¦Łþć=
Û×˛Þ¦²šÝČ=‡—×¦K=Ò=ž˛ČŁ—=−×þ=×þž−þŠ—Ý=Šþˇ×˛=—=žÝ˛=ý˛ÿ=ˇ³²¦=ž˛žÞ˛₣šÞš=−þŁÞš=
—ý∞Č=EÞ˛ÐýšÞ³Ł˛ÞÞČF=²˛=−þĞ²þŁ˛=˛Š×š¹˛=ž˛ČŁÞ¦ð˛I=Čð—=½šÞþýšÞ¦=−þ²×šˇ³ć²ş=
×þž−þŠ—Ý³=Šþˇ×˛=—=žÝ˛I=Čð—=ÿ=ž˛¾—ð˛ŁÝšÞ—=þ¹þˇ¦=Eý˛ÿ=ˇ³²¦=ž˛žÞ˛₣šÞš=−þŁÞš=
—ý∞Č=˛ˇþ=Þ˛ÐýšÞ³Ł˛ÞÞČ=¾¦¼=þ¹—ˇ=²˛=›¼=−þĞ²þŁ—=˛Š×š¹¦FI=ŠþŁþŠ¦=ž˛ČŁÞ¦ð˛=−þ=
¹³²—=−þ×³ĞšÞþłþ=−¦²˛ÞÞČK=Â˛ČŁÞ¦ð=ýþŽš=Šþ−þŁÞćŁ˛²¦=—=³²þ₣ÞćŁ˛²¦=¹Łþć=
ž˛ČŁ³K=‡¹—=×—ĞšÞÞČI=ž˛ČŁ¦I=žŁš×ÞšÞÞČI=ðÝþ−þ²˛ÞÞČI=ŠþŁþŠ¦I=Šþð˛ž¦I=¹ð˛×ł¦=
²˛=Ł¦¹ÞþŁð¦=−þ=¹³²—=−×þ¾š¹³=ÿ=−¦¹şýþŁ¦ý¦=ý˛²š×—˛Ý˛ý¦=−×þ¾š¹³=—=
žˇš×—ł˛ć²ş¹Č=Û×˛Þ¦²šÝšý=‡—×¦K=Â˛ý—¹²ş=×š₣þŁ¦¼=Šþð˛ž—Ł=Šþ=ý˛²š×—˛Ý—Ł=
−×þ¾š¹³=−×¦ÿŠÞ³ć²ş¹Č=˛ð²¦=−×þ=Ł¹²˛ÞþŁÝšÞÞČ=½˛ð²—ŁI=ž˛Ł—×šÞ—=Û×˛Þ¦²šÝšý=
‡—×¦=˛ˇþ=³₣˛¹Þ¦ðþý=−×þ¾š¹³I=šÝšð²×þÞÞ—=Šþð³ýšÞ²¦=ŠÝČ=−×¦ÿŠÞ˛ÞÞČ=Šþ=
ý˛²š×—˛Ý—Ł=−×þ¾š¹³=×þžŠ×³ðþŁ³ć²ş¹ČK=Í˛²š×—˛Ý¦=−×þ¾š¹³=Ł—Šð×¦²—=ŠÝČ=
þžÞ˛ÐþýÝšÞÞČ=³₣˛¹Þ¦ð˛ý=−×þ¾š¹³I=˛=²˛ðþŽ=¥=—ÞĞ¦ý=þ¹þˇ˛ý=ž˛=×—ĞšÞÞČý=
Û×˛Þ¦²šÝČ=‡—×¦K=Âý—¹²=ý˛²š×—˛Ý—Ł=−×þ¾š¹³=ýþŽš=ˇ³²¦=þ¹ð˛×ŽšÞ¦Ð=Û×˛Þ¦²šÝć=
‡—×¦=³=−¦¹şýþŁ—Ð=½þ×ý—I=ž˛=×šž³Ýş²˛²˛ý¦=×þžłÝČŠ³=¹ð˛×ł¦=³¼Ł˛Ýćÿ²ş¹Č=
×—ĞšÞÞČ=−×þ=Ł¦Ý³₣šÞÞČ=ý˛²š×—˛Ý—Ł=−×þ¾š¹³=˛ˇþ=−×þ=₣˛¹²ðþŁš=—łÞþ×³Ł˛ÞÞČ=
žý—¹²³=ý˛²š×—˛Ý—Ł=−×þ¾š¹³K=Ì×þ=þžÞ˛ÐþýÝšÞÞČ=ž=ý˛²š×—˛Ý˛ý¦=−×þ¾š¹³=¹Ý—Š=
−þŠ˛²¦=ž˛ČŁ³=Û×˛Þ¦²šÝć=‡—×¦=³=−¦¹şýþŁ—Ð=½þ×ý—K=

UK=

Ò¼Ł˛Ý¦ŁĞ¦=×—ĞšÞÞČ=−þ₣˛²¦=˛ˇþ=−×þŠþŁŽ¦²¦=−×þ¾š¹I=Û×˛Þ¦²šÝş=‡—×¦=Ł¦žÞ˛₣˛ÿ=
₣˛¹þŁ—=×˛ýð¦=−×þ¾š¹³=—=ðþÝþ=þ¹—ˇI=Čð¦¼=¹²þ¹³ÿ²ş¹Č=¾šÐ=−×þ¾š¹I=−þŁ—ŠþýÝČÿ=›ý=
−×þ=−þ₣˛²þð=−×þ¾š¹³=²˛=−×þ−þÞ³ÿ=Þ˛Š˛²¦=¹Łþ›=ŠþŁþŠ¦=−þ=¹³²—=−×þ¾š¹³K=



= J=Q=J=

‚þŁþŠ¦=ý˛ć²ş=ˇ³²¦=þˇł×³Þ²þŁ˛Þ¦ý¦=—=ýþŽ³²ş=ˇ³²¦=ŠþŁšŠšÞ¦ý¦I=žþð×šý˛I=
ž˛=Šþ−þýþłþć=Šþð˛ž—ŁK=Ï¹þˇ¦I=Čð—=Þš=ˇ³Ý¦=ž˛Ý³₣šÞ—=Šþ=−×þ¾š¹³I=ýþŽ³²ş=
žŁš×Þ³²¦¹ş=—ž=ž˛ČŁþć=−×þ=³₣˛¹²ş=³=−×þ¾š¹—I=Čð³=Û×˛Þ¦²šÝş=‡—×¦=×þžłÝČŠ˛ÿ=²˛=
ž˛=×šž³Ýş²˛²˛ý¦=×þžłÝČŠ³=Ł¦Þþ¹¦²ş=ýþ²¦ŁþŁ˛Þš=×—ĞšÞÞČ=−×þ=ž˛Ý³₣šÞÞČ=
ž˛ČŁÞ¦ð˛=Šþ=−×þ¾š¹³=˛ˇþ=Ł—ŠýþŁ³=³=ž˛Ý³₣šÞÞ—=Šþ=−×þ¾š¹³K=

VK=

Â˛=×šž³Ýş²˛²˛ý¦=þ¾—Þð¦=ŠþŁþŠ—Ł=³₣˛¹Þ¦ð—Ł=−×þ¾š¹³=²˛=½˛ð²¦₣Þ¦¼=þˇ¹²˛Ł¦Þ=
¹−×˛Ł¦I=ðš×³ć₣¦¹ş=ž˛žÞ˛₣šÞ¦ý=³=−K=N=¾şþłþ=ËþŠšð¹³=ˇ˛žþŁ¦ý=ýþ×˛ÝşÞ¦ý=
ð×¦²š×—ÿýI=Û×˛Þ¦²šÝş=‡—×¦=Ł¦Þþ¹¦²ş=þˇł×³Þ²þŁ˛Þ¦Ð=Ł¦¹ÞþŁþð=ğþŠþ=²þłþI=₣¦=
ÿ=²—=₣¦=—ÞĞ—=½šÞþýšÞ¦=E¹³ð³−Þþ¹²—=½šÞþýšÞ—ŁI=žŁ∞Čžð¦=ý—Ž=½šÞþýšÞ˛ý¦F=
Šþˇ×þý=₣¦=žÝþýI=˛ˇþ=ÿ=Þš×þž−þŠ—ÝşÞ¦ý¦K==

NMK=

‡¦¹ÞþŁþð=ž˛=×šž³Ýş²˛²˛ý¦=−×þ¾š¹³=Þ˛Š˛ÿ²ş¹Č=³=−¦¹şýþŁþý³=Ł¦łÝČŠ—=ž=
−—Š−¦¹þý=Û×˛Þ¦²šÝČ=‡—×¦=²˛=Ğ²˛ý−þý=×šÝ—ł—ÐÞþ›=ł×þý˛Š¦=¹−þŁ—Š³ć₣¦¼=Ł—×³=Ł=
Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦=³₣˛¹Þ¦ð˛ý=−×þ¾š¹³I=˛=²˛ðþŽ=¥=—ÞĞ¦ý=þ¹þˇ˛ý=ž˛=
×—ĞšÞÞČý=Û×˛Þ¦²šÝČ=‡—×¦K=Û×˛Þ¦²šÝş=‡—×¦=¹Łþ›ý=×—ĞšÞÞČý=ýþŽš=
ž˛−×þ−þÞ³Ł˛²¦=Ł¦žÞ˛₣šÞ¦ý=Þ¦ý=³₣˛¹Þ¦ð˛ý=−×þ¾š¹³=þ−Ý˛²¦²¦=Ł¦²×˛²¦=Þ˛=
ŁšŠšÞÞČ=−×þ¾š¹³=³=Ł¦žÞ˛₣šÞþý³=Þ¦ý=þˇ¹Čž—K=‡=²˛ðþý³=×˛ž—=Ł¦¹ÞþŁþð=ž˛=
×šž³Ýş²˛²˛ý¦=−×þ¾š¹³=₣¦=—ÞĞš=×—ĞšÞÞČI=−š×šŠˇ˛₣šÞš=¾¦ý=ËþŠšð¹þýI=Þ˛Š˛ÿ²ş¹Č=
Ł¦ðÝć₣Þþ=³=×˛ž—=þ−Ý˛²¦=¾¦¼=Ł¦²×˛²K=Â˛=ðÝþ−þ²˛ÞÞČý=³₣˛¹Þ¦ð˛=−×þ¾š¹³=
Û×˛Þ¦²šÝş=‡—×¦=ýþŽš=−×þŠþŁŽ¦²¦=−×þ¾š¹=³=žŁ∞Čžð³=ž=ÞþŁ¦ý¦=þˇ¹²˛Ł¦Þ˛ý¦I=
Þ˛¹Ý—Šðþý=₣þłþ=ý˛ÿ=ˇ³²¦=³¼Ł˛ÝšÞÞČ=ÞþŁþłþ=Ł¦¹ÞþŁð³K=‡¦¹ÞþŁþð=ž˛=
×šž³Ýş²˛²˛ý¦=−×þ¾š¹³=ýþŽš=Ł—ÝşÞþ=þ−×¦ÝćŠÞćŁ˛²¦¹ş=ˇ³ŠşJČð¦ý¦=þ¹þˇ˛ý¦=
ˇšž=žý—Þ=²˛=−š×šð×³₣šÞşK=


